H & 0l & AHS B Ml A

SZ 0l Xl

- ZH - SR(FH) - NIRA - BES (1;| Palgely I & A Hlwsz
S04 X2t 23,571,234 21,270,585 2,300,649
= 6,967,292 6,085,785 881,507
s 78,000 78,000 0
J| 1,797,590 1,794,595 2,9%
= 2,763,114 2,542,359 220,755
= 11,823,438 10,629,846 1,193,592
= 141,800 140,000 1,800
HHY2AAH|(SZ MU XI) 77,202 72,302 4,900
Jl=2Zhl 77,202 72,302 4,900
JlE2Zl 73,422 68,522 4,900
201 Let2| 29,962 25,062 4,900
01 Ar2eltl 29,866 24,966 4,900
OJ1=3H| 18,000 15,000 3,000
-= &l ZE 8,0003 54123 «25H 12,000 9,600 2,400
-2 Bt=2H| 38 240,0002 *25Y 6,000 5,400 600
OASBZEHl |AI2eltl 4,250 2,350 1,900
-SAD| 28 550,000 *2CH 1,100 550 550
-IglED| A 450,000 *7CH 3,150 1,800 1,350
et o MEHH 25 4,378,232 2,891,632 1,486,600
= 2,085,580 1,349,730 735,850
J| 8,000 8,000 0
[ 586,644 365,889 220,755
o 1,698,008 1,168,013 529,99%
JIZBs tE2el 2,547,134 2,558,534 211,400
= 1,307,980 1,316,430 A8,450
J| 8,000 8,000 0
= 334,764 337,29 A2,535
o 896,390 896,805 A415
K=t A 24,200 18,700 5,500
201 L2 | 12,000 10,500 1,500
01 At 22|l 2,000 500 1,500

Oojglo] edus 2288 gl

1,500,000& 1,500 0 1,500
301 LetENEZ 4,000 0 4,000
14 JIEt2 43 4,000 0 4,000
ONeglol e W= 2ZHAHI 4,000,000& 4,000 0 4,000
HIMHASR 2 AIEE 240tA JHHALE 16,000 16,000 0
7l 8,000 8,000 0
= 8,000 8,000 0
201 L2 | 6,180 0 6,180
J| 3,090 0 3,090
= 3,090 0 3,090
01 ArR2eltl 6,180 0 6,180
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mE: NeIEY L MEKH 25
CI9l: JSeis (S22 (el mg)
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
O2alt~ 289 222 NN
6,000, 0002! 6,000 6,000
| 3,000 0 3,000
2 3,000 0 3,000
OsaIIA 28Y 2HSE Y
180,0002 180 0 180
| % 0 %
2 % 0 %0
301 Ler2FZ 9,820 0 9,820
| 4,910 0 4,910
2 4,910 0 4,910
I EE 320 0 320
OSatA 2A8E BAT Al 2413
8,002+ 102 +43| 320 0 320
| 160 0 160
2 160 0 160
14 J|E A2 9,500 0 9,500
OBAIIA AMEE ES2Y
9,500, 0002 9,500 0 9,500
| 4,750 0 4,750
2 4,750 0 4,750
307 B1240| & 0 16,000 216,000
] 0 8,000 8,000
2 0 8,000 28,000
02 BRI AMAIYRE 0 16,000 16,000
OHINYRS SAUINATICHSE KB MY
33 02 0 16,000 16,000
| 0 8,000 8,000
2 8,000 8,000
=SART T NBML(SBART BHEL I 1,515,280 1,532, 180 16,900
2HAte)
= 757,640 766,000 78,450
< 227,292 229,827 £2,5%
2 530,348 536,263 £5,915
301 Yer2rZ 1,515,280 1,532, 180 16,900
2 757,640 766,000 8,450
= 227,292 229,827 £2,5%
2 530,348 536,263 £5,915
14 JIEL 42 1,515,280 1,532, 180 16,900
O=2FRT ZIIHT NS (53)
23 1,600,0002!+718LH 1,148,800 1,147,200 1,600
2 574,400 573,600 800
= 172,320 172,080 240
2 402,080 401,520 560
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3 GoAEd & MEH 23
els JI=Ha tis2el EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
OLFIK[A RIIHX XEAH(4S52)
& 3,700,000 *93CH 344,100 362,600 18,500
= 172,050 181,300 29,250
[ 51,615 54,390 22,775
= 120,435 126,910 26,475
MERH ES 1,831,098 333,098 1,498,000
= 777,600 33,300 744,300
[ 251,880 28,590 223,290
T 801,618 271,208 530,410
OrMSSIIGHOIE A (RHAI) 39,200 33,200 6,000
402 RIZEXH20IH 16,000 10,000 6,000
01 QI X2 AL E A (KEMITHE) 16,000 10,000 6,000
OOt SE LIHMZAIE X At
& 1,000,00024 %1690 2 16,000 10,000 6,000
OtZeItHAIEE HSAY 1,530,800 42,200 1,488,600
= 765,400 21,100 744,300
< 229,620 6,330 223,290
= 535,780 14,770 521,010
401 AlEBIYL S THYI 1,488,600 0 1,488,600
= 744,300 0 744,300
[ 223,290 0 223,290
= 521,010 0 521,010
01 AlEZHI 1,488,600 0 1,488,600
OXtet2Ere| AR 1,488,600,000& 14! 1,488,600 0 1,488,600
= 744,300 0 744,300
< 223,290 0 223,290
s 521,010 0 521,010
AOIE DBIEAl A 29 54,072 50,672 3,400
201 er23| 34,600 31,200 3,400
01 At2tltl 3,000 0 3,000
OADIE JBISAl AFY 225 P
3,000,000& 3,000 0 3,000
02 S3=gHl 31,600 31,200 400
OulIF At 20|83 2tEa =Al2el]
400,000& 400 0 400
EHH 22| 8,630,898 8,440,381 190,517
= 4,689,962 4,544,305 145,657
= 78,000 78,000 0
Jl 32,400 32,400 0
[ 962,840 962,840 0
= 2,767,6% 2,722,836 44,860
= 100,000 100,000 0
toleg2ael 8,367,468 8,323,168 44,300
= 4,504,600 4,504,600 0
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X XH -
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2HZ 0l L Xl 2t
SHEg el

chelr lgze] EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 78,000 78,000
) 32,400 32,400
< %1, 160 91,160
= 2,691,308 2,647,008 44,300
= 100,000 100,000 0
AL 2 X2 276,000 240,000 36,000
307 2Ito1d 276,000 240,000 36,000
05 2ItRIE = 276,000 240,000 36,000
O=258A 224 XA
2% 23,000,000&*128 276,000 240,000 36,000
WIS EFY 2242/ (XHA) 12,364 6,364 6,000
201 er2 3| 12,364 6,364 6,000
01 AtR2tel] 6,000 0 6,000
OFE A AI 6,000,000& 6,000 0 6,000
BIEIIA 552 e SEAE Jitlict 29 2l 13,220 10,920 2,300
201 fer=3| 13,220 10,920 2,300
2 S22l 13,220 10,920 2,300
OZeIAIAE SXIE=t]
1,150,000 x2 & 2,300 0 2,300
SEFAEE 2 89,273 88,713 560
= 11,205 11,205
& 1,680 1,680
s 76,388 75,828 560
setsSd ord2te|El & NFatstAtn tiE 2l 40,560 40,000 560
201 Ler23 | 560 0 560
01 At22t2ltl 560 0 560
Ostst=d td2e|RSs HAx=E
560,000 560 0 560
st dEsd xd XA 174,157 28,500 145,657
= 174,157 28,500 145,657
ZASIIN 2as K= 174,157 28,500 145,657
= 174,157 28,500 145,657
301 LEENS 145,657 0 145,657
= 145,657 0 145,657
14 IIEt2 83 145,657 0 145,657
O=48 Hloi243 145,657,000 145,657 0 145,657
= 145,657 0 145,657
=HSIEH 3,748,010 3,346,010 402,000
Jl 86,000 86,000 0
= 3,662,010 3,260,010 402,000
=gt 3,026,980 2,624,930 402,000
IEEEISHLAE2E 2 3,026,980 2,624,930 402,000
201 ¢Bt2 ] 440,480 368,480 72,000
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2 =523l 434,200 362,200 72,000
odlles 3% 36,000,000& 123 432,000 360,000 72,000
307 212+01H 2,437,500 2,137,500 300,000
05 QI+2IE =2 2,437,500 2,137,500 300,000
OJIEE=ssXclAle 2zt 22|
L0002 +1228 2,437,500 2,137,500 300,000
401 AIEHIZL 20| 130,000 100,000 30,000
01 Al&ZHI 130,000 100,000 30,000
O (AZE LA & 24 8)
130,000,000& 130,000 100,000 30,000
ITHHOIAX &Y |4 5,025,856 5,019,866 5,990
2l 1,629,590 1,626,595 2,9%
< 1,170,765 1,170,765 0
z 2,185,501 2,182,506 2,9%
= 40,000 40,000 0
ITHAEOIA X &HY DIBHAIE =4 5,024,876 5,018,886 5,990
) 1,629,590 1,626,595 2,9%
= 1,170,765 1,170,765 0
i 2,184,521 2,181,526 2,9%
= 40,000 40,000 0
ATHAO0IU X 2D |BE R AL 169, 100 163,110 5,990
Jl 64,550 61,555 2,99
i 64,550 61,555 2,9%
= 40,000 40,000 0
401 AIEHIZL 20| 169, 100 163,110 5,990
2l 64,550 61,555 2,99
= 64,550 61,555 2,9%
= 40,000 40,000 0
01 Al&ZHI 158,100 152,110 5,990
O =) =HE EHSZLHAL XA
& 3& 152,110,000 162,110 112,110 40,000
2l 56,055 56,055 0
i 56,055 56,055 0
= 40,000 0 40,000
OAITH AL X 218 - A
38 02 0 40,000 40,000
= 40,000 40,000
OctE0I=3l 2 e ZUHAIE EXIAE
5,990,000 5,990 0 5,990
2l 2,9% 0 2,99
i 2,9% 0 2,9%
OIUX TH&2 §8H 22| 865,300 814,900 50,400
= 191,750 191,750 0
Jl 41,600 41,600 0
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Sk (B9 &)
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< 42,865 42,865 0

= 587,285 538,685 48,600

= 1,800 0 1,800

HiHX Ol ¥ S=ot8st 865,300 814,900 50,400

= 191,750 191,750 0

| 41,600 41,600 0
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Ot=F8 S TADIA SsSME B2 X
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SAIDA BSAMS(EAISAI 56,800 55,000 1,800

= 22,000 22,000 0

ik 33,000 33,000 0

= 1,800 0 1,800
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< 22,000 22,000 0
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OEHATAl == TADIAZZAIE X

KI&A 2 & 56,800,000& 56,800 55,000 1,800

L= 22,000 22,000 0

= 33,000 33,000 0

= 1,800 0 1,800

SENHE S 698,500 634,800 63,700

2 - 2ots 2g2el 698,500 634,800 63,700

s=II2s & 244,900 181,200 63,700

401 AIEHIZL 28I 244,900 181,200 63,700

01 AlZHI 244,900 181,200 63,700

sSEIIES X & = 244,900 181,200 63,700

AR Z2& 1,700,0002*17S 28,900 20,400 8,500

-J|ESF 23 1,200,000&*180S 216,000 160,800 55,200

Heas(EZ U X) 147,236 50,694 96,542

BEXE 147,236 50,694 96,542

=EHIStte= 147,236 50,694 96,542

802 Bt JIEL 147,236 50,694 96,542

01 FNEXSEHES 59,670 0 59,670

O=20Exg TN 57,928 0 57,928

-LEESH /ALY 610,000& 610 0 610
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C Y === [ [EPNIn
HI: HRHS(SZ0NHXIY)
¢el: BMXIE (Gt H2)
M- SA(3) - MRAY - BES Oi &K 3 o Hwsz2
~SAIC Al CHSZE CAIDIAZZAIL AR
X2 At 5,083,800 5,084 0 5,084
OSHIBEAIY ZA0| Xt 2,076 1,116 960
-OMHSSTIGH0IL ALY 8,630 9 0 9
-OMMEE TaHEA 16,1102 17 0 17
SO S ST HL X 2
23,9202 24 24
-OlZRIDtXIEY T2 A 7602 1 1
AR BSAY 54,1409 55 35
— AT Q228D |2t DIES B2
20,7102 21 0 21
-012I0| S8+ X2 LPGRF MEH X2
36,7602 37 0 37
212 AWER ASKABIAS
790 1 0 1
-JPAEOI =2 EXIKIE AFZ(2020)
11,0702 12 0 12
-JIAEROI 2 AXIXIR AP (2021)
4,650 5 0 5
-JIAEHOID 2 XX ALY
3,2602 4 0 4
PG ABMEET 22 AR (2021)
581, 160 582 0 582
~HAC Al SHSZE CAIDIAZZAIL AR
X2 At 110,580 111 0 11
-LPGEI| AFRIIT AIEIHS ALY
21,1702 22 0 2
-XIS Ol RIAlANY S5 XA (2021)
4013 58,180 59 0 59
-F2AHS I XI= XA (2018)
4,9202 5 5 0
—FOHE Ol K= XA (2019)
8,3102 9 9 0
—ATHAOIH X S=8ERIR AR (2021)
661,310 662 662 0
-XIS ORI AIARY SHAd 5t XIR AR (2021)
439,670 440 440 0




